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Items highlighted in yellow are tasks for you to complete
Items in Blue italics are help tips

Multiply By 4


To quickly multiply by four, double the number and then double it again. 


Often this can be done in your head.

Try 25 = double = 50  +50 = 100
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3 [2] 4 |poubleagain| & 4 T5] 102 Double again| 204
3 [5] 6 |pouble again| 1z 3 [52] 104 |Double again| 208
3T & |pouble again| 1o 3 [55] 106 |Double again| 212
4[5 10 |pouble again| 20 3 [5a] 108 |Double again| 216
36| 12 |Double again| 24 4 [55] 110 |Double again| 220
a7 14 |Double again| 26 4 [s6] 112 |Double again| 224
a8 16 |Double again| 32 4 [57[ 116 |Double again| 228
3o 16 |Double again| 36 3 [s6] 116 |Double again| 252
4 [10] 20 | pouble again [ 40 3 [55 ] 116 |Double again| 26
4 [11[ 22 |Double again| a4 4 T60] 120 | Double again [ 240
4 T12] 24 |Double again|_a& 3 T61 [ 120 |Double again| 24
3 15[ 26 |Double again| 52 4 T2 | 124 |Double again| 2as.
4 [1a] 26 |Double again| 56 3 T6s| 126 |Double again| 252
415|350 |Double again| 60 3 Tea| 128 |Double again| 256
3 16| 32 |Double again| 64 3 Te5| 150 |Double again| 260
4 [17] 34 |Double again| 6& 366|132 |Double again| 264
4 T18] 36 _|Double again| 72 a7 [ 13a|Double again| 268
4 15| 36 |Double again| 76 3 T8 | 136 |Double again| 272
4 T20] a0 ouble again [ &0 3 Te9 | 136 |Double again| 276
4 21] a2 |Double again| 4 4 [70] 140 | Double again [ 280
4 22| a4 |Double again| & a [ 71 [ 142 |Double again| 284
4 23] 46 _|Double again| 52 a [ 72 1as|Double again| 288
424|456 _|Double again| 56 4 [ 75| 146 |Double again| 252
3 25| 50 |Double again[ 100 4 [7a| 1as |Double again| 296
3 26| 52 |Double again| 104 4 [ 75| 150 |Double again| 300
3 27] 54 |Double again| 108 3 [ 76 150 |Double again| 304
3 28] 56 |Double again| 112 a [ 77156 |Double again| 308
3 25| 56 |Double again| 116 3 [ 78] 156 |Double again| 312
4 [50] 60| Double again [ 120 3 [75 | 156 |Double again| 316
3 [51] 62 |Double again| 124 4 T80] 160 | Double again [ 320
3 [52] 64 _|Double again| 126 3 T8I [ 162 |Double again| 324
3 [53] 66 |Double again| 132 3 T2 164 |Double again| 328
3 [5a] 66 |Double again| 136 385|166 |Double again| 332
3 [55] 70 |Double again[ 140 3 TBa| 160 |Double again| 336
4 [36] 72 |Double again| 144 3 T85[ 170 |Double again| 340
4 [57] 74 |Double again| 145 3 Te6 | 172 |Double again| 4.
4 [58] 76 |Double again| 152 3 Te7[ 174 |Double again| s
3 [55] 76 |Double again| 156 3 Tes| 176 |Double again| 352
4 a0] 50 | Double again [ 160 385|176 |Double again| 356
3 a1] 62 |Double again| 164 4 [0 180 | Double again [ 360
3 42| 64 |Double again| 168 3 To1 [ 102 |Double again| 364
4T3[ 66 _|Double again| 172 3 T2 104 |Double again| 368
3 aa| 66 |Double again| 176 3 T3] 106 |Double again| 372
4 45| 50 |Double again[ 180 3[4 108 |Double again| 376
3 as| 52 |Double again| 184 a5 150 |Double again| 380
4 a7] 94 |Double again| 18 a6 | 152 |Double again| 384
3 as] 56 |Double again| 152 a7 154 |Double again| 388
4 Ta5] 56 |Double again| 156 3 T8 | 156 |Double again| 302
4 [50] 100 |Double again [ 200, a5 | 158 |Double again| 396
2 [51] 102 |Double again| 204 2 11001 200 ]Double again | 400





Multiply by 4
This is a very simple trick which may appear obvious to some, but to others it is not. The trick is to simply multiply by two, then multiply by two again:

58 x 4 = (58 x 2) + (58 x 2) = (116) + (116) = 232
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